/DVIRB

*UXSD 5RINiDG = O3 6% /

/7  7\J

7N
YRIRIUDID
NA\PLQDIVINF]QD *DIHZV
N .DLJPLHU] * o)
z 3.6%/ /
T
(T
a
Q
=
e 7\6]
L
o YRIRIUDID
% NU\PLQDIVI
\F]QD *DI
HZVNL
_DLIPLHI]
3 .6%/
/
7N
G\VIHP\ DIDUPRZH L NRQIURIL GRVICSX PJU
= = RINVHN “DPLDQ $% =03 .6%/
% -
[
[%] 7\J
,QIRUPDIAND GIHGF]D Z JURPDGIHQLX
PDIHUDIX GRZRGRZHJIR PJULQT . RZDIFT\N
ODUFQ $% 03 .6%/ =
7N 7N 7N
= 1D{DIQRG JRSVRGDUF]D :
ZIDNU XViXJ = 1D{DIQRG JRSVRGDUF]D 3UTHGPLRI IDNXIDNZQ\
GHIHNINZLVINFTQ\FK PJU Z IDNU XViXJ GR Z\ERUX , GU KDE
= DVIN $GUDQ $% GHIHNINZLVINFTQ\FK PJU OIFKDIVNL 5DIPXQG $%
03 .6% 7/ - = DVIN $GUDQ $ z 03 .6% 7/ =
03 .6%7/ & &KHPLD ZRNyi QDV
a
a 7\¢]
x = JDDIQRG
T JRSVRGDUF
10 Z 1DNU
XVixJ
GHIHNINZLV
\FIQ\FK P
JU”Z DVIN
$GUDQ $%
-0
3.6%/
7N 7N
- /HNIRDN 0Z =03 6%/ = G\VIHP\ DIDUPRZH L NRQIURL. GRVICSX PJU = DZIGRZIF]
I - -y - " S$QGUIHI 7\J PJU = RINVHN “DPIDQ 7\J $
z iyZQ\ EXG\QHN $- X0 = DV]I\QJIRQD ot en sy
a
'lll‘ 7\¢]
L G\VIHP\ DIDUPRZH L NRQIURL GRVIESX P

JU "DZIGRZIF] $QCUTHI $ 03

6%/ /




/DVIRB

*UXSD 5RINiDG =03 6% / /  7\J
7\6]
= G\VIHP\ DIDUPRZH L NRQIURL GRVICSX P
JU ZRINVHN "DPIDQ $ =03 .6%
/7 7
7N 7N
ORQURIQJ ZIJNIQ\ PJU 7\G] ORQURUQJ ZIJNIQ\ P
%.DIDV 6HEDVILDQ $ ORQURUQJ %.DIDV 6HEDVILDQ $
7N $ ZINQ\ PJ =03 .6%/ /
7\6] 03 .6%/ U %lDiDV o
- GHEDVILDQ ZDWIIDI
= $ -0
- 3 6%/
(8 /
w 7] ZDW]IDA
ORQURUIQJ
ZINQ\ PJ
U %lDiDV
GHEDVILDQ
$ -0
3 .6%/
@
©




